
 

Many people are unfamiliar with bats 

made (1) traditional Kashmiri willow 

mills. Interestingly, the willow utilised 

in the (2) of professional cricket bats 

comes from two significant locations 

in the world: England and Kashmir. 

Willow from England is of the highest 

quality, (3)_ willow bats from Kashmir 

are less expensive than those from 

England and are heavier due to the 

raw material’s weight. Many experts 

believe that Kashmiri willow bats lack 

the punch of their English 

counterparts when playing the shot, 

making them (4) for beginners. 

However, because they are 

inexpensive, they make a good (5). 

1. 1. through   2. from   

 3. in      4. of 

2. 1. construct  2. manufacture  3. 

build     4. process 

3. 1. hence   2. however  

 3. subsequently   4. so  

4. 1. calm   2. ideal   

 3. careful   4. ambitious 

5. 1. game   2. equipment  3. 

strategy  4. substitute 

Advertising, without a doubt, aims to 

persuade customers to (1)  their items. 

However, it is now a serious worry 

that advertising only promotes the 

product's positive (2) and pushes 

customers to follow the latest fashion 

(3). As a result, advertising develops 

unnatural and needless (4).  and 

demands. The important point is that 

advertising only promotes the positive 

aspects of their products in order to 

(5) customers to purchase them. As a 

result, consumers are given an 

incomplete picture of the product. As 

a result, customers will want to 

acquire the products because they 

have no flaws.  

1. 1. buy     2. deceive  

 3. enclose   4. fix 

2. 1. limitations   2. aspects  

 3. glances   4. criticises 

3. 1. enlists    2. trends  

  3. modes    4. 

gifts 

4. 1. cravings   2. passions  

 3. appetite   4. 

addictions 

5. 1. appeal    2. converge 

  3. increase   4. 

entice 

 

P: Therefore, these are products of the 

thinking by sages and  not products of 

every man’s nature. 

Q: A person’s behaviour evolves 

through conscious evolution. 

R: When a potter pounds the clay and 

makes a vessel, it is the  product of 

the artisan’s activity, not of his nature. 

S: The sages observed activities and 

gathered ideas and  thoughts, and 

thereafter introduced principles of 

propriety and  righteousness and 

instituted laws and systems. 



 

1) QPRS 2) PSQR 3) PRQS 4) 

QRSP 

 

P: For that we need people who 

possess not only high skills but  high 

values as well. 

Q: So the need of the hour is not only 

skillbased education but  also 

valueinspired and valuebased 

education. 

R: When we talk of investing in 

education, a question arises as  to 

what kind of education needs to be 

given to the youngster. 

S: Our aim is to evolve not only an 

affluent society, but an  egalitarian, 

just, humane and compassionate 

society. 

1) SPRQ 2) PRQS 3) RQSP 4) 

RSPQ 

 

P. Granted, political defection is 

increasingly less an act of  ideological 

defiance than one of pure 

opportunism. 

Q. Yet, for all it flaws, the current law 

recognizes and respects  one 

fundamental principle: The right to 

dissent. 

R. A blanket ban on defection will 

weaken rather than  strengthen 

democracy, in whose name it is being 

sought to be  imposed. 

S. Granted also that it is illogical to 

allow a third of the party to  split but 

not in a lesser number. 

1) RPSQ 2) PSRQ 3) RSPQ 4) 

PRSQ 

 

P. As difficult as it may be to 

recognize what it is inside us that  is 

making us respond with negativity, 

that is the path towards  forgiveness. 

Q. This will automatically change your 

relationship with the  other person 

and you will feel much better. 

R. We need to recognize our reaction 

to the other person as a  mirror of 

something in ourselves. 

S. Whatever, the issues might be, 

once you have discovered  them, you 

can work on forgiving yourself. 

1) SQRP 2) SRQP 3) RQPS 4) 

RPSQ 

 

P: Yet making lopoor people is hardly 

a Poverty cure. 

Q: Segmenting the industry, might be 

worth while if it allows  more of the 

poor to get access to credit. 

R: Multinational corporations could 

take the top microfinance  institutions 

to the next level, and the remainder 

could take the  responsibility of 

development groups and regional 

banks. 

S: Property rights and the role of law 

matter too. 



 

1) PRQS   2) QRPS 

3) SPQR   4) RSPQ 

 

There is a market failure in cyber 

security. Solutions being suggested 

or tried include increasing 

transparency about data losses, 

helping consumers and firms to make 

more informed decisions about cyber 

security, shedding more light on how 

Internet Service Providers (ISPs) 

tackle malware infections they spot on 

customers’ computers and using 

liability laws to force software 

companies to produce safer codes. 

On transparency, America has led the 

way. Almost all American States now 

have data-breach laws that require 

firms to reveal any loss of sensitive 

customer information.  

In Europe, telecom firms have been 

obliged to notify customers of 

breaches for some time now, and 

there are plto extend reporting to a 

wider range of industries. Breach laws 

have encouraged insurance 

companies to offer coverage against 

potential losses. This is helpful 

because they are in a position to 

gather and share information about 

best practices across a wide range of 

companies. A cyber insurer advises 

companies on defensive tactics and 

also on how to minimise the damage if 

something goes wrong. The American 

government should create a Cyber 

Security Board equivalent of the 

National Transportation Safety Board, 

which investigates serious accidents 

and shares information about them.  

Such a body could look into all 

breaches that cost over $50 m and 

make sure the lessons are shared 

widely. But insurers are likely to 

remain wary of taking on broader risks 

because the costs associated with a 

serious cyber accident could be 

astronomic. Insurers can deal with 

acts of God but not acts of 

anonymous hacking groups or acts of 

state-sponsored hacking. This 

explains why the overall cyber-

insurance market is still small. 

Governments are weighing in, too, not 

least by supporting private-sector 

efforts to clean up botnets, or 

networks of compromised computers 

controlled by hackers. These 

networks, which are prevalent in 

countries such as America and China, 

can be used to launch attacks and 

spread malware. 

1. Select the option that is the 

opposite of the word ‘breach’. 

A. Transgression 

B. Contravention 

C. Observance 

D. Noncompliance 

2. Choose the most appropriate 

central theme of the passage from the 

options given below. 

A. Different types of cyber breaches 

B. Preventive measures for cyber 

security breaches 



 

C. Threats of cyber security breaches 

D. America’s lack of transparency on 

cyber security 

3. Which word in the passage me‘not 

identified by name (of a person)’? 

A. Anonymous 

B. Transparency 

C. Hacker 

D. Customers 

4. What would be a good idea for a 

company to invest in to prevent cyber 

threats? 

A. Paying the Cyber Security Board 

$50 m to prevent data breaches 

B. Creating a National Transportation 

Safety Board in the company 

C. Hiring anonymous hacking groups 

to spy on others 

D. Hiring a cyber insurer to advise on 

defensive tactics 

5. Which of the following is not a 

relevant solution for cyber security 

threats? 

A. Enforcing laws related to producing 

safer codes 

B. Compelling ISPs to tackle malware 

infections 

C. Making the cyber insurance market 

smaller 

D. Creating more transparency about 

data losses 

 

16. We have issued (1)/ a order 

seeking immediate (2)/ printing  of 

revised price tag. (3)/ No error (4) 

17. Suresh have never (1)/ encouraged 

nor (2)/condoned  violence. (3)/ No 

error (4) 

18. Earth's deserts (1)/ is a land of 

extremes,(2) /constantly  pushing life 

to the limit. (3)/ No error (4) 

19. King penguins (1)/ are active 

throughout (2)/ the long  summer 

days. (3)/ No error (4) 

20. The behaviour of resident spiders 

(1)/ towards pirate  spiders and their 

own prey (2)/ are quite different. (3)/ 

No  error (4) 

21. The government need to adopt (1)/ 

a multi-year  expenditure outlook (2)/ 

while preparing the budget. (3)/ No  

error (4) 

22. Scientists intended (1)/ to 

reintroduce and conserve grey  

wolves (2)/ in their original habitat. (3)/ 

No error (4) 

23. Tickle is (1)/ one of the broadest 

and deepest (2)/ subject in  science. 

(3)/ No error (4) 

24. The Kepler Space Telescope, (1)/ 

launched on 2009, was  designed (2)/ 

to find planets around other stars. (3)/ 

No  error (4) 

25. Throughout the history, 

(1)/humans has existed side-by-side  

(2)/ with bacteria and viruses. (3)/ No 

error (4) 

 



 

Cloze test 1 

1.1  2.2  3.2  4.2  5.4 

Cloze test 2 

1.1  2.2  3.2  4.1  5.4 

Sentence Arrangement. 

1.4  2.4  3.1  4.4  5.2 

Passage. 

1.c  2.b  3.a  4.d  5.c 

Error 

16.2   17.1   18.2   19.4 

20.3   21.1   22.4   23.3 

24.2   25.2 


